202149 28 21

= = = o
52 HPTE Y Zg M8+ =529 =& EI=F
AA: Q7] 11 - 18:32 / &S: 406% (2% | Y= WG| & 2ah

d8HA 2SS WE=s NdlE FANEF JITotdAL.

O|AEtd At£o| 1 FFS el 204 O|g22 MF0| Ltz Zreh Xt7h HofgiLiR?

(211 )

Ot22| Ot & AlLf HOFOM CHE =& o= ot 20| =207t 52 e F1U7IR?

(2 3 : ) 1) 2)

A7l 55 TESI0 o= Egl= ME2 FARevte? (U e )

4. R QE O|AEIH Xt&E0| st QM2 Ozt Y0 E2|= O|lges FARIIR?
(2 8 : )

5. O| A2t Xt&0| Foof X8l &= X, Zldsta, MAS X|ZLta? (Bl 9 : )

6. 22PN EHIQF HHAOIA 170 2 17|12 YA &€ AS LE5I/AS W, 27t oA
SHAL 0|2 PHAM 0|2t HESIN=71R?
(21 11 : )

7. O|Agtdol & &= HEIZO| ZhLiQ B2 HEZE FERILI? (Bl 13 . )

8. “1 g HdsS FERISHK| T2t OA52 2|2 BA0lZt. o=et= 22|12t 2 A=
L2t (2 14 )

9. O X|&HO|o| 0| =1, &=0| L}, £0| mOjAM & Eoj7F g2l A2 5+ AQ7tR?

(2 17 - )

10. “LI(OF2)= 0|£2HA Xto| Fo| J|YE QAT 1S F0| OFF 2T 8IS HO|Lf Lhs

ojA2td S0 Wl 220l H 7|ZoIL oA Lie Felvte?

(21 18 : )

agyg O2ets YA S FAD HE X[F[A7|E oY Ozet= O H=2 WA HIF
AL 28 HIFAIZ|E AStH O0lzots O =2 HHZE F510] EAF B FA|I7|E
Hote2l (2 6:24-26)

2Z S4W 020 JIE=2 20 AICH



